MOSAIQUE » CALCUL MENTAL * CYCLE 3

(Quelle est Ia bonne réponse ? [ FICHES5 |

1" Souligne la bonne réponse.

6,8 80,24
(6x0,1) +(8x0,01)= 0,68 (8x10)+(2x0,1) + (4x0,01) = 82,4
6,08 8,24
9,006 12,5
(9x1)+(6x0,001)= 9,60 | (1x10)+(@2x1)+(5x0,1) = 12,05
9,06 12,005

2= Souligne la bonne réponse.

3,05 34,17
(3x10) + (5x0,1) = 30,05 (3x100) + 4 x10)+ (1x1)+(7x0,1) = 3,417
30,5 341,7
7,4 66,57
(7x1)+(@x0,01) = 7,04 (6x100) + (6x10)+(5x 1) +(7x0,1) = 6,65
70,4 665,7

3" Souligne la bonne réponse.

8,74 46,5

- Bx0,1)+(7x1)+(4x0,01)= 784 (4x10)+(5x0,1)+6x 1) = 456
87,04 15,1

111 89,01

(1x0,1) +(1x10) + (1 x 100) = 110,1 (8x0,01)+(9x10)= 17,01
10,1 90,08
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